Math 109  Practice Quiz 7      
1.   Solve the inequality  x2 - x -2 < 0.
       -1<x<2             
2.   Solve the inequality   (x+1)(x-2)(x-5) ( 0.

        -1(x(2    or    x(5     
3.   Explain how you know the following rule does not define a function.

x      1     2     3     2     1

------------------------------     

y      2     3     5     3     4
There is more than one y value for the x value 1.

y can be 2 or it can be 4.
4.   State the domain for the following function.
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        x(7    (since x-7 must be ( 0)
5.   Suppose g(x) = 3x2 + x.  Find the following:

        a.  g(2)

        b.  g(a-1)

           a.  3(2)2 + 2  =  14

           b.  3(a-1)2 + a-1  =  3a2 -5a +2
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